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Meaning of Fault with regard
to Liability for Damage Caused

by the Unlawful Action of
Another Person
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1. Fault in case of liability for delicts committed
by minors without delictual capacity

1.1. General
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1.2. So-called parental liability depending on fault
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1.3. Liability independent of parent’s fault
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2. Fault in case of liability for delicts committed
by persons without delictual capacity due

to disability
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3. Fault in case of liability for delicts committed
by minors with delictual capacity
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4. Fault in case of liability for delicts committed
by service providers

4.1. Fault-based liability of service user
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4.2. Liability depending on the fault
of service provider
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